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1. The plasma protein binding of drug A and drug B is 5% and 98%
respectively and they have same tissue binding 80%.

(1) Calculate the volume of distribution of each drug. (Assume V,=3L, V;=38L
for both two drugs).

(2) Drug A and B are given as same IV bolus dose of 500mg, and at 4hr after
dosing, plasma drug concentration is 1mg/L and 9.95mg/L for A and B
respectively. Estimate clearance and AUC.. for each drug. (Assume both
drugs follow first order elimination)



(3) If the protein bindings of both drugs decreased 50% in one patient due to
disease state, determine V ;of both drugs in this patient and compare the
change of initial drug concentration between these two drugs. (Assume
tissue binding does not change)

2. TRUE (T) or FALSE (F)

1. Lipophilic drugs will be able to distribute throughout the body, so
their volume of distribution cannot be smaller than total body
volume.

T F

2. If volume of distribution decreases, it will affect Ke.
T F

3. Plasma protein binding only relates to what degree the drug gets
into tissue, but does not relate to how fast drug gets into tissue.
T F

4. Volume of distribution and clearance are independent
parameters, but volume of distribution can affect AUC..

T F



5. If the drug has strong tissue binding, there must be a lot of drug
accumulated in tissue.
T F

6. Excretion rate of metabolite cannot be larger than that of parent
drug.
T F

7. Volume of distribution decreases as time because there will be
less and less drug remaining in the body.
T F



